Mechanic Diesel Level 1

Q 1) Modern engines use pump-operated cooling system. This is because the thermo-

syphon system ..... /B‘HW SO 4U TTferd %%‘IWWWW%WM
a3t REeH

A) Cannot be pressurized / QIS d g [T S Hebdll g

B) Overcools the cylinder head and valves / f¥ferex & =i 3R aTea & TeT $T HRar %
C) Requires a large quantity of water / SUTGT HIAT T O ) SRe’d BIT §

D) Does not allow a thermostat to be fitted / Qm‘d ﬁ fipe ﬁ@pﬁ a_dT %

Q 2) The thermostat most commonly used in cooling system of modern engines is .

%ﬁ?%mﬁ%mﬂmmﬁw ........... @Tqﬁuamwmﬂﬂ
|

A) Wax-pellet type / I Ul UHR BT
B) Bi-metal type / Egﬂﬂ UHhR Pl

C) Bellows type / (aT'hTID UDhR df
D) Alcohol type / Uehigd UHR &l

Q 3) A noise produced in the cylinder of a diesel engine during combustion, usually when
the fuel has low ignition quality, is called .... / G&-1 & qHY Siotd ENE CARINER ﬁﬁ?{[
YR AT dd BidT § SI§ 34 &1 Tl Uil FY gidT ¢ | 59 &8

A) Fuel burst / YT ThIe

B) Fuel explosion / ‘s‘%Fr fowpe
C) Fuel knock / _sc‘r'Ff S IBIGE

D) Fuel thrust / 38 ¥

Q 4) In C.1. Engine, the fuel is injected when the piston ............ /< &né ESE| i _EA!:‘EJ:T B
RERSINEEASERL < PUT

A) Is approaching t.d.c. at the end of compression stroke / HHIRHE W EaE R KA RS K]
B SR A |

B) Has just passed t.d.c. at the start of power stroke / UTdX w & a@sﬁ WP &3St
o &1 R fpan g

C) Is approaching b.d.c. at the end of induction stroke / 3SR w & SfaH ST B
SRS |

D) Has just passed b.d.c. at the start of compression stroke / HEIRE @ﬁ & %nqeﬁ wRat
SR P IR AT |

Q5) A glow plug is .............. /@WT@HT%

A) A compression device / HHRHE fSargy

B) A decompression device / foddisT (@ﬁaﬂ:a"ﬂ'_'l) fgarsy

C) Fitted in the inlet manifold / 3TIC A-IhIcs H T 81T &

D) Screwed in the combustion chamber / Q6 P& H ph HATg3HT

Q 6) The part of the diesel engine fuel tank which minimizes slushing of fuel due to

movement inside the tank, is ......... / @WW%%W%WHEW@[%% 3R
ST & BRI Y DI dei1g Uh DI HH BT §

A) Filler cap / ey &y




B) Filler neck / fheex A&
C) Baffles /
D) Drain plug / %T'T iyl

Q 7) What is the system of fuel injection shown in figure given below? / T fed T s

o SolaRH &1 B 1 REeH 82

A) Individual pump system / W\’rﬁf Uy Rieeyq
B) Common rail direct injection system / dTH Y STNGE SoaRH RReH
C) Distributor system / [S¥¢

D) Unit injector system / ("¢ goidex ey

Q 8) The special feature of pintle type nozzle is that it ............... / fO<d UHR & AioTd &t
fRwquagsfe. ... ...

A) Has a single hole / Sﬂﬁ@%ﬁ Eﬁa% [

B) Has an extended stem to form a pin / IPEERIERE %'Q del g3l wH T&ﬁ?ﬂ % |

C) Is suitable for cold weather / S HNH® ﬁ*m Sugdd Eh?ﬂ %

D) Is designed for easy starting / ST %nqur & foru fesmaa fovan Stran % |

Q9) A governoris a ........eu.u.... /W@?ﬂ%

A) Temperature-sensitive device / dTHHIT Yad! feargd
B) Pressure-sensitive device / Q16 ¥dd fSargy

C) Speed-sensitive device / fd ﬂa‘cﬁ %?ﬂ%ﬂ

D) Vacuum-sensitive device / fyafa gach fgarga

Q 10) Which of these statements is NOT true about turbocharger? / TS IoR & ey o

FE AP TR TR’ 2

DAL FREA BUM

i P
FLTER GLEMEMT | PERFIRATEONETAL TURE

Dl LU

DAL TO GHOMNE

A) It is turbine driven / I8 &84 U=Nford 11§ |

B) It is forced induction device / dg Udh dc1 BRG] P&"?ﬂ%ﬂ EPI?H % [

C) It increases engine efficiency and power output / Ig GoI- DI Tl 3R TR 3f3cyc
JEaI g |

D) It reduces quantity of air admitted in combustion chamber / Q& P& T S arel ag Gl
AT HH B HH B 5|

Q 11) Compression ratio of diesel engine can be as high as ................ / SToTd S5 &l
cae T I ) - B IR |

A) 9:01
B) 12:01
C) 14:01
D) 22:01

Q 12) Figure given below shows a ................ B ICACU IR rs: P Cal % |



A) 2 - stroke diesel engine / 2 Ej?ﬁ Siod ESE|
B) 4 - stroke diesel engine / 4 %Q\IOD Siord SOl
C) 2 - stroke petrol engine / 2 %g\loh a@ﬁ SOl
D) 4 - stroke petrol engine / 4%§\Ich Q;\m SOl

Q 13) Which of these is NOT the function of exhaust system of diesel engine? / BEE: CAE|
a . BN EN
SIoTd 919 BUTseRe ReH &1 &1 T8 §

A) To deliver exhaust gases to the atmosphere / Tﬂgﬂ?ﬁf | Q‘Rﬁ? T @ﬁ?ﬁr & fam
B) To reduce noise / YR UeH & ﬁ'l'q

C) To quench sparks / W P T HIA aﬂ%‘lﬁ

D) To cool the engine cylinder / 3917 e ®1 38T o & forg

Q 14) These are the parts of diesel engine exhaust system, except ............. BRI

SOl Tog e RReA S1UIE T8 2 |

A) Valves / dlcd
B) Muffler / Hh R
C) Silencer / TR

D) Tail pipe / <& U134

Q 15) What can be used to recover heat from exhaust gases? / Q"@E pskefen ko Rl v
& forg =T AT ol 1 Wbl & 2

A) Muffler / Hb R

B) Heat exchanger / %3 Q?ﬁ%l\_rﬁ
C) Tail pipe / <& U134

D) Manifold /

Q 16) What makes starting of diesel engine difficult in cold weather? / 3 AgH H Sioid
9 & A6 B H o1 HidTS Ual HRdl 8

A) High oil viscosity / 0@ @1 3= Gl
B) Fuel injected is cold / ST AT SEEE]] %

C) Much of the heat of compression stroke is absorbed by cold cylinder block / e ffcier
Al GRT BRI Kb & UG I D SHIRNYT BT & |

D) None of these / 3?13[ I ﬁ'ﬁc :|75Q[

Q 17) Diesel cycle is also known as ............... / ST W@W 2 FEUH
WIS |

A) Constant volume cycle / fAad s o

B) Constant pressure cycle / [BEGKACEED

C) Constant temperature cycle / g qoHE T
D) Constant head cycle / BECRILEEED

Q 18) Seiton under 58S, reduces all these, except .............. /58 & Sfarid Gred g ot
Beex gl Bl Uerarg |

A) Productivity / SdIqd dl

B) Excess motion / YR a1

C) Human frustration / AHd A==

D) Time wasted in searching / WroH H TG &1 gaiel



Q 19) What phase of 58S is concerned with colour coding of tools ? / 5S T DI T TROT
3OIRY & W1 Fe I Tafdd g2

A) Sort / BT

B) Set in Order / o H ERSIE)
C) Shine / FHBTI

D) Standardize / HT-eb I Bl

U T aeR ..., g |

A) Histogram / e

B) Control Chart / Eb?j?f qrc

C) Process Flow Chart / U9 Tl e
D) Scatter Diagram / Whex S

Q 21) Which instrument can be used to check radial clearance? / / NEPRESITSEIRSIE]
X & T fobdy gl T v el &7

A) Dial indicator / STId §8lhex
B) Deviation gauge / IEESREIS
C) Feeler gauge / BIeR 715l

D) Wire gauge / IR US|

Q 22) What is used to remove carbon deposits from valve seats and combustion chamber s

surro%ldings?/mc_q’@'c’ 3R T8 P& P TRI 3R STHI BT B g & T 1 TanT
P8 ?

A) Wing nut / of fdT e

B) Paint brush / Uc S

C) Socket screw / e h
D) Wire brush / dTUX X[

Q 23) The lowest portion of piston is called as .............. / fOes o g dw Ui &1 dgd g

A) Lobe / 1§

B) Head / 88
C) Skirt / @he

D) Groove / Yd

Q 24) Piston rings are generally made of ........ /qEd fORe R H1 18Il %
|

A) Cast iron / GQ@dl NI
B) Brass / dtad
C) Copper / GIEI
D) Aluminium /

Q 25) What is mounted on the rear end of the crankshaft? / $HUMIC & g RR W
T STl 3§ 2

A) Timing sprocket / T Bidbe



B) Flywheel / Tz ®1A
C) Vibration damper / Eﬂgam ?;TQT
D) Counterweight / Hr3cde

Q 26) If crankshaft and camshaft are very close to each other, then the camshaft drive

mechanism used is .... / TfS HPHMTE 3R HHRIUC Th-GIR P HIH! Aold i &I, dl Ugad
HHAMUE 13d AP -oH BT 8

A) Gear drive / MR gled

B) Chain drive / o gled

C) Belt drive / Cgd gled

D) Sprocket drive / TNbe glgd

Q 27) The coeftficient of friction is written as / gy & T[uTih ! fAgad forad §

A)p
B)y
C)r
D)o

Q 28) Which type of oil pump is most commonly used for engine lubrication? / SOl &
He & oL fordl bR T 31iaet UY &7 310 IR R AN Il & 2

A) Gear type pump / R YR &1 4y

B) Scavenging type pump / Th AT UHR BT U
C) Vane type pump / 9 UHR H1 47

D) Plunger type pump / TR YR HT Uy

Q 29) An opening is provided in engine lubrication system to the outside air outside air so
as to prevent building up of excess pressure in the crankcase. It is called ....... /eI Hed

ey o 9181 P a1 & foru Uss ANt fear wirar § dife 3rafis gra

A) Air inhaler / TR S8R
B) Air breather / TR ECN
C) Air inducer / TUR W
D) Air primer / TIX YIgHR

Q 30) The purpose of thermostat in engine cooling system is to keep the engine ... / SOl

R A YA FI WSS &bl ... .. ... IG 8l g |

A) Cool / &I

B) Warm / 39

C) Hot / TH

D) At normal operating temperature quickly / HT¥IR STRTET dIHH R @id

Q 31) What does the following figure show? / g s s Farar ®
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_ﬁw
as*

atdc

A) Valve movement diagram / dled Hd He Su™
B) Valve timing diagram / dled < SIu™
C) Valve setting diagram / dled JfeT s

D) Valve opening diagram / dled T ST

Q 32) The function of the capacitor in a coil-ignition system is to ......... / WUIEFT EPINE

Rren # SURIR BT SR A B |

A) Transform the voltage / dieco Pl IGH]

B) Act as mechanical switch / Tifie g & =0 & S1f A1

C) Prevent arcing at the contact-breaker / 9 HoIHh H 31 DI AT
D) Direct the current to the appropriate plug / 3Ugdd Wil B HC HolH T

Q 33) In order to keep valves in sync with the pistons, a timing belt or chain connects /

e A i 1Y a1cd &1 W & feu ersffindee ar= . ... .. TaTIT HRaT g |
A) Flywheel to the crankshaft / TlTS &1d o ShepRITIC

B) Crankshaft to the camshaft / HHIMIE J HHAMIE
C) Cylinder head to camshaft / feferge ¥ HHMGE
D) Cylinder head to crankshaft / RINETEER HHIMIE

Q 34) The specific gravity of electrolyte of a battery is measured by ............. /S8 P
faggd s Bt AR Ta®H . ... ... I g |

A) Hydrometer / ERIEIG]
B) Pyrometer / ISR
C) Odometer / 3SR
D) Techometer / THIHC

Q 35) An engine should not be operated in a closed garage because ........... /d¢ Rt o

S5 D1 I To! D1 ATgT Hiifh

A) Exhaust gas is poisonous / k’,‘\!“é\l%d ﬁg \SIEN‘\IQ'H S\I(‘II % [

B) Of risk of an explosion / faepic o1 @arT gidl % |

C) The engine receives incorrect mixture / ESE| CARCREAE I RE NG % I

D) The engine is damaged if gas cannot escape / gfe T 7t Fpamm at ESREIGPESE]
ST |

-~

Q 36) Diesel fuel, compared to petrol is ................ / lem P SNEL RN '{‘:‘F{ 6\Idl %

A) Less difficult to ignite / yoTaterd g § BH HieATs
B) More difficult to ignite / TSSTAferd 814 H SATGT HidTE
C) Just about the same difficult to ignite / Totarerd Eﬁef R EI'T%_*ITg




D) More or less difficult to ignite, it depends / TSTaTerd B H 1T 1 HH HioATs , T8
PR eRaTg |

Q 37) If the temperature of intake air in engine cylinder is increased, it efficiency will / i

o o Rifcier & Sfaigur arg &1 AUHM 96T § ol S9®! Gl . . .. ... |

A) Increase / ST

B) Decrease / el

C) Remain the same / HHIT Rl

D) Increase initially and then decrease / Ugd a%m 3R b §IG g

Q38) . Sensor senses the amount of oxygen in the engine exhaust and calculates air

fuel ratio. / S5 & TGING | STeRioH B AT BT .. ... ... TR AT § SR I SeH
3T & MO HRAT | |

A) Engine temperature / SOl b1 dTUHT

B) Exhaust gas / TSR eS|

C) Air flow / dIg I Ydig

D) Air inlet temperature / dIg ERNEGICEIR]

Q39) The........... Sensor monitors mass or Volume of a1r ﬂow into the intake manifold and
adjusts the quantity of fuel. /. .. ..... IR 7¢H T-IhIcE B arg o UdTg o Soadq= I
3T BT TR BT § 3R S8 B AT I FHRINTT HRal 8

A) Engine temperature / SOl b1 dTUHTH

B) Exhaust gas / TSN eS|

C) Air flow / dIg I Ydig

D) Air inlet temperature / dIg ERNEGICEIR]

Q 40) In case of any failure, the driver is informed through MIL lamp on dashboard. What

is MIL?/Wwaﬁ@ﬁﬁWﬁm@,‘maﬁ@&nﬁw%ﬁaﬁa
fraT ST ¥ | TH 318 Ua T R

A) Material Indication Lamp / TeRad Salh e L]
B) Measured Indication Lamp /AT S81h e o

C) Malfunctioning Indicator Lamp / Eﬁw 33 HIE T
D) Mean Indicator Lamp /HI®] $§|$QI:|

Q 41) On-board diagnostics I (OBDII) data are retrieved by connecting a scan tool to / B
Y \J N C
%Frﬁ ......  SedR 3H-d18 SR 11 (31 &t ST 11 ) STeT I UTed fordT ST Febedl
I

A) MIL / TH 3118 Td

B) Data Link Connector (DLC) / SICI NEACRE (@Qﬁ?ﬂ)

C) Diagnostic Trouble Code (DTC) / GI-® ¢ad ®Is (31 <1 )
D) Power Train Control Module (PCM) / UTdX a:f EI'E?IF[ i

Q 42) ECU in electronic injection system is used for ............... / 5810?§II('\'|0D i;\;MQI"I ﬁlﬂ

dEdigaruE. ... & faugarg |

A) Calculating the appropriate injection timing / 3Ugdd SOIGRIA CIS[EHT &1 UM B
B) Meeting only certain operating conditions / P& TR <ra &t T PP
C) Closing the injection valve only / dcl QUIdRI dled A EHERED

D) None of these / ST A PIS ol




Q 43) With EFI of diesel engines .......... / SIS 391 & SUHSMTS

A) Sharp start and stop is not possible / @E%ﬁ I a'lﬁ\’)hT dq Ehef CAREICE] qﬁf

B) Very high injection pressure can be obtained / dgd 3= EQW URR UG fobar o
DTS |

C) Sudden cylinder cut-off is impossible / 3l TSR &1 3T AT 3R

D) Diagnostic properties are poor / EMBIEEE BIURENE gid % |

Q 44) Gasoline engines are ................. than diesel engines. / Siold g9 B KL e
TS ... gag |

A) Heavier / URY
B) Lighter / gedh]
C) Unpredictable / BT gl ol G & |

D) None of these / _&"_'ﬂ}f I fbﬁé :f_sgf
Q 45) Which of these is / are volatile fuel? / % & @1 areu=fie S¢9 gYd1 82

A) Petrol / I?I"cja

B) Alcohol / Tehigd
C) Benzol / ol

D) All of these / T T

Q 46) In S.I. Engine, which of these air-fuel ratio is considered rich? / TH \’rﬂg ESE| o fog
aTﬂ-g?FfW STUTd 33T HIT STl %?

A) 11:01
B) 15:01
C) 20:01
D) Above 20:01 /20:01 ¥ 3T

Q 47) The fuel consumption is least in ........... [t T Y B @ud YJIdH gag |

A) Idling range / SIESNUES

B) No-load running / ST YR & gaT
C) Cruising range / WW

D) High power range / 3= TR 39

% 48) The major constituent of natural gas is .................. / Cﬂ?ﬁﬁﬁ g BT -] Ycdh g

A) Ethane / _SCQT'T
B) Methane / g

C) Butane / @%T-[
D) Propane / g

Q 49) The disadvantage of using LPG as fuel in automobiles is ............ / JfeHiaea o
A FEUA T R A T N Sl BT awg . ...

A) Reduced engine life / S Gl S v H RIcIE

B) Less power produced / H UTdR YT Rl % |

C) Both re%duced engine life and less power produced / g5 G| 3 hH 3R UTR &1 aﬂT,
SHIBIaTR |

D) Neither reduced engine life nor reduced power / T S5 Cdl S v H gIat % 3R A Bl




IR HH UST g% |

Q 50) Which of these is correct about energy conversion in an engine? / SOl T 3l

IRadT P IR AR I G 2

A) Chemical energy to electrical energy / A Sl o %ﬂ ol
B) Electrical energy to kinetic energy / ﬁ’cgqa ol  Tifast

C) Chemical energy to kinetic energy / / IS St F it SHolf
D) Electrical energy to heat energy / Irt\?lcg{«ld Sl I ST Sl

Q 51) The electric motor in a hybrid car can also act as .............. / BT3foe R H sdfacad
. I
AL FEUE PR PR IHATS |

A) A generator / SFRER
B) A fuel pump / EF‘EFT ug
C) A fan / T

D) All of these /T T

Q 52) The ratio of brake horsepower to indicated horsepower is called ......... / S YT

3R G Sy=Ifdd & U & ... ... .. FEAS |

A) Mechanical efficiency / AifAd G&fdl

B) Overall efficiency / P Q&ldT

C) Indicated thermal efficiency / Gfoid dTUId G&fd
D) Volumetric efficiency / GRHTHIGT G&far

Q 53) Keeping other parameters constant, brake horsepower of diesel engine can be

increasedby/WW@WW@WW%WHW@ ....... I
TERT ST FHT ¢ |

A) Decreasing density of intake air / fadgur drg T Ydcd YcHl

B) Increasing temperature of intake air / faugu drg ol dUHTT de -l
C) Increasing pressure of intake air / WUT arg &l qld de-Tl

D) Decreasing pressure of intake air / U drg ol qld Y-l

Q 54) The event that would reduce volumetric efficiency of engine is ....... / ag geAT S
SO & S G&fcll bl HH DU

A) Inlet valve closing after bottom dead centre / ScASS AR & diq 3_"@? qTed &l dq
Pl

B) Inlet valve closes before bottom dead centre during suction stroke / HAR[+ %Q\IOIO & T
Sl 88 W< ! Ugal A gl geie dled b s/ 8 SITY

C) Inlet valve closing before top dead centre / T S8 I & Ugd 3_"@3 JTed Bl dg
DAl

D) Exhaust valve closing after top dead centre / 20 38 YR & 91 Woghe dled $l &g
DAl

Q 55) In a 4-stroke engine, each cylinder should have minimum .............. /4 w g o
WS RRA Gk

A) One valve / Udh dled

B) Two valves / al ared

C) Three valves / < dTed

D) Four valves / dIR dled



Q 56) The valve in an engine is opened as the cam lobe on the cam raises the ........ /Y Y
FIRFAAS......... ®I IBIAT 8, I oY S5 A dled GaIdl ST g |

A) Bearing / SR

B) Piston /

C) Valve lifter / dTed faloex
D) Valve seat / dled Tl

Q 57) The size of engine intake valve is ............... / oG $4Ed> dled T3P . ... ...

gare |

A) Same as that of exhaust valve / Q‘\)‘E?NC dled & 9

B) Smaller than that of exhaust valve / Q”m qed I Blel

C) Larger than that of exhaust valve / Q”@E died 9 gl

D) Do%s not depend on the size of exhaust valve / Q"@E ITed & 3MHR R AR 78T
PXdl o |

Q 58) The plunger of a jerk type pump is driven by .......... / Sh JHR & GT HT o . . . . .
I I g g |

A) Crankshaft / HHIMIC
B) FIP camshaft / FIP SHRITUC

C) Pulley / Gail
D) Flywheel /

Q 59) The fluctuation of engine speed during a cycle depends upon ........ /b B éRH
ESECIRICEE R CCRT I WRAR P |

A) Mass of flywheel / ws‘o—epra Pl cHHH
A
B) Mass of crankshaft / ShhRTUC h] GIHI

C) Speed of flywheel / TTTs Gald ! Tfdl
D) Power output / TdX 3{T3cYc

Q 60) A square engine is an engine having .............. | TR SOl g SOl g % o

A) Cylinders of square cross-section / AR PHIY-HaRM UHR HT Riferer

B) Cylinders of rectangular cross-section / 3TIdIHIR PI-HaRM UHR HT Riferer

C) Combustion chamber of square cross-section / IR PI-YaRM UHR BT Gg- Dl
D) Equal bore and stroke / JHIH IR 3R w

%6:[1) V&%/hat are the two main types of hybrid vehicles? / gefys aei ® ol I UhR
952

A) Series hybrid vehicle and mild hybrid vehicle / RIS gT3fS aTe 3R AR BIEfoS
dred

B) Parallel hybrid vehicle and full hybrid vehicle / WRad E’Igﬁ@' dlgd 3R q:Uf 313@3
ared

C) Series hybrid vehicle and parallel hybrid vehicle / ORI grgfors argH 3R Rad
REEEECIRE!

D) Full hybrid vehicle and empty hybrid vehicle / J0f ST3{S€ aTe-1 3R Te] gI3fors
dred

Q 62) What is true about parallel hybrid vehicle? / ORd gIEIoS alg & R H 1 qd %



?

A) The engine is directly connected to the transmission / ENE CIRIE ?Iﬂﬁl’-?l:f | \‘:ﬂ@?{ %I
B) The electric motor is directly connected to the transmission / sﬁm AR Bl %ﬁ?)
FSIENEEECICRES

C) Both of the above / C‘qu:[?ﬁ 5l

D) None of these / ‘s’ﬂﬁ @ Ebﬁé :fgjf

Q 63) The purpose of power-split device in hybrid vehicle is / slsi&s dig- T ureR e
Eal

A) To split electrical energy into mechanical energy / 3@% ol &1 gifde ol #
Sre

B) To allow both engine and electric motor to propel the vehicle / 39T 3R sﬁm e
Gl I dTg -G R Gl

C) To recharge battery while braking / BT S THT det & st e

D) To recharge brakes while driving / T TG S DI =TSt HAT

Q 64) Meggerisa............ JHR oo _eﬁ?ﬂ%

A) Source of e.m.f. /‘s‘@ww@ﬁ

B) Instrument to measure hlgh remstance / 3 UfaRIY & 7TUA & 1%112 EE'EI_C'
C) Type of null detector / ¢l ST HTUBR

D) Current carrier / YRT dIgh

Q 65) The discharge capacity of a reciprocating pump is........... /s fe Uy & fewrst
&A1 BId &

A) Higher than that of centrifugal pump // @?ﬁ'qzﬂ'lﬂ 4g 3§ S
B) Lower than that of centrifugal pump / @—Cﬂ'qq‘Ta 4g 3§ =r
C) Same as that of centrifugal pump / @_Cﬂ'qquﬁ g & A

D) Unpredictable as compared to that of centrifugal pump / @éjqul?r g & KL H &gl
5! S FHhT g |

Q 66) An engine requires overhauling in case of ......... oot 3! RUfa | ENE CARSIE)
3R TRTTd P SRR Bl & |

A) Poor compression / QR BRI

B) Excessive consumption of lubricating oil / W dd P SATIH Wad
C) Mechanical failure / gifAd Smadl

D) All of these / T T}

Q 67) While lapping a valve, the lapping compound is applied to its.......... / aTed DI
TSR T ) T AT SIS P 5 .. .. WAMAE |

A) Face / Y
B) Stem / *q
C) Guide /TR S
D) Tip / feu

Q 68) A 12-V lead acid battery consists of / 12 diee T8 e St T % I

A) Three cells in series / gufiepr o \_{[% GIREG
B) Six cells in series / gufish | Tfl@ EREIN



C) Three cells in parallel / T S AR |
D) Six cells in parallel / THMR H H 93 &8 I

Q 69) The type of engine used in heavy commercial vehicles is ......... / U} I
aEgl A Ugad g draT S . ... .. g |

A) Diesel / SI5Tdl

B) Petrol / aaﬁ

C) Spark-ignition / W-gl?ﬁa:r

D) External combustion / STgY] &g+

Q 70) Dressing and bandages are used to .\éﬁiﬂ 3R q@’*ﬂ ARt
& forg fopar ST g

A) Reduce the victim s pain\tﬂ%ﬁ & GG, Bl HH B

B) Reduce internal bleeding\G{Taﬁ'a; IGFAATd Pl HH B

C) Help control bleeding and prevent infection\ XddHld 3R GHHUI &) Aep H 03g H-
D) Make it easier to take the victim to the hospital\tﬁ'%.ﬁ DI ST o ST S g1

Q71 is best suited to extinguishing oil or flammable liquid fire.\ , dad

T SRS IR 1 3T g P forg Yol Sugad g |

A) Foam\®IH

B) Water\SIcl

C) Dry chemicals\[8 XHY
D) Soda acid\ TSl TS

Q 72) Actual equipment of computer system that can be touched is—\m JUITcH &
R IUHRU folg TR faaT o Ahdll 7, I8 &-

A) hardware\fﬂéam

B) software\ I}

C) applications\ﬁ@lav_w

D) bugs\sli{

Q 73) The first priority when working with a hand tool is-\%'Ug ed & 1Y ST HId JHY
oY Ugd Ugelt Trufied 5

A) Don t make any mistakes\al'ﬂ—&F Qe - B

B) Watch the other people around\3{THUTH & 3= AN Dl o
C) Always thinking about safety\§HRIT Y& & IR & I

D) None of these\gzlﬁ q aﬁé :lélf

Q 74) P-V diagram is stand for- \ P-V SIIITH q 3o %—

A) Pressure volume diagram\aQR ﬁ?{q STYUTH
B) Piston valve diagram\fa?:[ dled STYUTH
C) Piston volume diagram\fﬁE:l dicyH SIIUH

D) None of these\§TH I ﬁé el

Q 75) Compression loss in I.C engines occurs due to \LC S9H o ﬂtﬂ_&'ﬁ

g, $BRUBNIGI
A) Leaking piston rings\?ﬂﬁ;"{ o g



B) Use of thick head gasket\% ?S e & JanT
C) Clogged air-inlet slots\TFANTS Q'CIT-_&’:T@—CT ENIE
D) Lack of engine oil\QuI AT P HH

Q 76)%"1"he body of the engine is known as \ 3o CiEIS Kl
1

A) Cylinder block\RIQIUSR sl
B) Cylinder head RICIUSR 88
O) Piston\[U%H

D) Combustion chambers\Gg- &
Q 77) Which problem occur in a taper wear? \ TR forgrae # S geEan St %‘?

A) Making the cylinder bore cone shaped\ﬁl@ﬂ]@'ﬂ BT TR B &b ATHR BT & ST §
B) Deviation of the cylinder bore from circularity\ﬁlam TR ﬁaT‘s‘ Y fage= &=ar %
C) Making the cylinder bore I- shaped \ IBELESREIR &ﬂ_sc- HIHR P d Sldl %

D) Making the cylinder bore T- shaped\ﬁl@l'UET IR - MHR BT &4 STl %’

Q 78) Which of the following method is used in repair of cylinder? \ Rider &t IAd |
frafoiaa & 2 fora fafd o1 SuanT o smar g2

A) Cylinder re- boring\m Ci| g-: IR
B) cylinder grinding\m CiRINE
C) cylinder lapping and honing\ Rauer ot Aftht ik gl

D) All of these\d T

Q 79) The turbocharger uses \CHraToR BT STINT Bl %I
A) Engine energy\goi-l D1 ol

B) Energy of exhaust gases\m TG Bt Sl

C) Steam energy\HIU D Sl

D) Water energy from radiator\ RfSUER T Sl

Q 80) Which exhaust system component shown in the picture below?\FTd %Q Y CER:]
B 91 BT YuTTelt gedh S=1ian 7 82

sil 4}

A) Exhaust manifold\m\_rlvm AfFwmie
B) Catalytic converter\BeTAfCd HAdER
C) Muffler\HP AR

D) Exhaust port\Q"GIuW ure

Q 81) Which of the following system layout of an engine shown in figure below?\ T

feRamy U o A S99 1 i I1 RReH J-3M13e ST 11 82



= P
o=

A) Fuel supply system of S.I. engine\S.1. 9 & I ‘v'l'lf‘l'l_s: R
B) Fuel supply system of C.1. engine\C.1. ST b1 TR {-Itcﬂir e
C) Cooling system\@1cl

D) Power transmission system\tlylaT Eflﬂﬁ-l’-‘?l:f Reen

Q 82) What happens in E\he float che;mber during the idling action of the fuel pump?\g‘éﬂ ug
& SMSSIONT TR & SR UIC R § o1 5ial 52

A) It stays full\T8 HRT 781§

B) It remains empty\dg GTeH Y 8

C) It is partly filled\Tg iR HRTIEAT 8
D) None of these\g_"lﬁ | ﬁ's‘ q?)f

Q 83) The rating of C.I. engine fuel (Diesel) is given by A ?ﬁ\’:ﬂ_sc goi _sc?Ff
G EIRRIED ERI fear Srar g

A) Cetane number\ e THIR

B) Octane number\3{TH e TR

C) Performance number\TRBRHY TR
D) Centene number\¥Te THR

Q 84) When the fuel is supplied by the injection pump, it exerts sufficient force against the
spring to lift the \STS SOIaR UY GRT Se &1 MTYfd &1 oIt &, ol I8, Eal
oM & for, 8 & favg vait 9 I g

A) Nozzle valve\[ISTd dled

B) Throttle valve\YTed dTed

C) Mechanical valve\HbB A dled
D) Exhaust valve\TTSIIe dled

Q 85) In a diesel engine, the fuel is ignited by-\m ESE ﬁ, é?ﬂ D! Uedferd foar Srar

A) spark\w a1
B) injected fuel\ §IdeS S GR]
C) heat resulting from compressing air that is supplied for combustion\®HURITT TR I

fHieper aTelt THT gIRT Ot 38 o oy 3myfef o1 ot §

D) ignition\Gg gRT
Q 86) The principle of a radiator of an engine cooling system is to A\ o
BT RieeH & WeTeR 1 Rigi G

A) Spread out the hot water over a large area\ TH gt 1 31 & TR e
[of
B) Act as a reservoir for the water\UT] & I%IQ ST Bt Ad¥e dh[Y HIA]
C) Cause a heat flow by convection currents\YIdg - YRTSAT GRT ST BT YATE BT

D) Increase the air speed as it flow over the hot surface\SrdY Bl gdl Tlﬁﬂ?l_s' TR Jgdt %
IYD| TS DI TG




Q 87) Water is a poor electrolyte 50 an ac1d is added to increase its conductwlty, acid

AU U6 IR SACIAIEE §, SUfE 39! Iadhdl &l d¢H & fou
wm@?ﬂw% s g

A) Hydrochloric acid\?ﬁ@ﬂ?‘hﬁ? e
B) Sulphuric acid HeRIRP TS

C) Nitric acid\T3fcd RIS

D) Carbonic acid\PTE S s

Q 88) The term trickle charge is associated with A Eﬂv_cf EIS RIS &
T ST 5|

A) Dry cel\Y[5 I

B) Silver zinc battery\w i Jed
C) Lead acid battery\@f_t%r e G|

D) Nickel iron battery\ﬁfa')_(’f TRA S

Q 89) Euro and Bharat standards are the for motor Vehicles.\® 3R URd

HF® HIR aTg-l & forg gl

A) Emission standards\S oGS -

B) Energy standards\@ Sl ATH

C) Next generation engines\GF'ITﬂ tﬂ?ﬁ & SO
D) Speed limit\TTfcl fAE=0T

Q 90) The function of positive crankcase ventilation (PCV) system is that it

\urifed shepch dfeeter (didied) yoret &1 &1 15 3 fob a8
|

A) Returns blow-by gases from the crankcase to the intake system \hHpg sréqo Ren
RESIEIBRIRICIISICGIE

B) Promotes combustion by creating a swirling movement in the air- fuel mixture\gaT—_iﬁ?Ff
forsror 7 U Rl qadie SHIHR &8+ &1 9ga1 &dl §

C) Mix fuel with air\gdTl & Y ‘s“éﬂ ENIG %

D) Fee%d blow-by gases to the exhaust manifold\ U\TIT i & sad-ag T B
Pl

Q 91) Which of the following catalyst materials most commonly used?\FgferRad & ¥ fog
efore yard &1 qad $Hfis IUanT fasan ST 82

A) Platinum\@ifeTH
B) Palladium\Ucif&aH
C) Rhodium\JIgf&aH

D) All of these\d Ut

Q 92) Which of the following dashboard indicator symbol is shown in figure below?

fafiRad o O o 1 SIS §f$her Udie e i & exifar mar g2




A) Engine overheating indicator\§o IERBIET §fShex
B) Oil level indicator\\?‘ﬁga dAgd 3%%17??

C) Battery charging indicator\seX} TR s’%%“\f

D) Glow plug indicator\Tell W fSdHex

Q 93) Which of the following dashboard indicator symbol is shown in figure below?

frafead 7 o9 o1 Sveis Sfeder udie 19 fo & axifar mar @2

A) Oil level indicator\3T8d Tlad fgdhex

B) Battery charging indicator\seX} TR ‘5%%?
C) Glow plug 1ndlcat0r\7?‘|3f WT E'W

D) Temperature indicator\CTIRTR 'ii\ R

Q 94) The tool which is used to remove gear, bearmg, Wheels and pulleys from their

attaching components is \ JUHRYT foren! R, foaf, 1ZI'%'EIET HFﬁ Cal
U Yo el A e & Ry fdarsaigag. @

A) Screw driver\¥gh SIgdR

B) Monkey plier\w TR

C) Pullers\

D) Hammer\%ﬂ?

Q 95) Major disadvantage of LPG as fuel in automobiles is A\ SR d |
AP ETA AU e ygEgeeE 'l

A) Reduction in life of engine\§o & oig™h T ol BT

B) Less power compared to gasoline\ﬁ@?ﬂq P R T ®HH UTaR HT

C) Reduction in life of engine and Less power compared to gasoline both\goT & oig™h |
HUT 3R TG Bt g1 H HH UTeR 81 ST

D) Neither Reduction in life of engine nor Less power compared to gasoline\d _Eﬁ ENE] &

AR T BT 3R 7l T B o1 & $HH uraR gl

Q 96) A car that utilizes two or more different fuel sources to operate the car is known as a

\BR DI GaTferd B & forg et a1 &) 4 31fdes fAfNe se Jidl &1
JUTNT HA Tl R B & T H M ST g

A) Petrol car\aaﬁ DhRR

B) Electric car\%ém PR
C) Hybrid car\ B398 HR
D) Diesel car\Slold HR

Q 97) Hydraulic fluid might be transferred with pipes, tubing or hose. Pipes are often made
of (non-stainless) material.\ B@m %d $1 U7y, [T YT ATl El

QMR {51 ol Gl 2 | U8 T 3R (R-Wew) PR R

A) Lead\T@$
B) Zinc\Sid




C) Aluminium\UegHI-H
D) Stee\&Td

Q 98) Which of the following sensor is used for measurement of mass flow rate?\goUHIT

TdTE &3 & HIUE & fou Fafeiaa & 3 foog IR o1 v fosan i 82

A) Camshaft position sensor\HHRITHE ISR YO
B) Pressure sensor\URR IR

C) Hot-wire sensors\B1e-aTaR YR

D) Temperature sensor\CHIRTR AR

Q99) The sensor, senses rotation of engine camshaft for speed and timing

of injection.\ W,E@W?ﬁﬂﬁ ﬁ?ﬂm%mmwag
RIS P Hafd HRaT ¢ |

A) throttle position\?ﬁ?ﬁ BISiNE

B) manifold pressure\flﬁ'cbﬁ@' URR

C) camshaft position\mm PISINE
D) knock\Fileh

Q 100) Which of the following is major pollutant emitted from the exhaust due to

incomplete combustion?\fFHIRIT H T BT 31901 T84 & HRU e ¥ e arar
T UG ©?

A) Carbon monoxide\®Te nﬁf&ﬁaﬂﬁg
B) Hydrocarbons\

C) Oxides of nitrogen\ATSC IS & RIS S
D) All of these\d T+

Q 101) Which of the following system layout shown in figure below?\HId %Q Y ICER|
B 91 RieH qefr3e axifar T g2

Enhsiat guass losvs sagine Beduced wolume of eminics. u-nnu“-.
(PR Gl MO R B M

m D =" ‘:a-t:&"" »

D-unn-mu;mdnpp-dh
dieis] particulase filter

A) Emission control system\gﬁﬂzﬁ Eb_g.ﬁﬁ ey

B) Lighting system\?ﬂ%ﬁ'rf ey

C) Cooling system\?ﬁ'm ey

D) Power transmission system\q'\lﬁT E’N’&I’QFT Reen

I :l CEF e Yol il @B MO reducion in SCR Catalyt

Q 102) What is the probable engine fault, If engine backfires?\HHTIAd SO Q1Y &1 %, i
. ES
Ul dp YR x| %?

A) Ignition timing is defectwe@ﬁ’sﬂq EI%‘&IT[ %
B) Mixture ratio is incorrect\THS{0T S{Urd SEEH

C) Engine is overheated\Sol 3ferp Tlfff?f a1 %

D) All of these\ T T

Q 103) What is the function of fuel injection system?\S& SOIGRI TUITCH T HTH T 82



A) Filter the fue\38 & fhee’ BT

B) Measure the correct quantity of fuel to be inj ected\é@ﬂf ﬁ’)—q NIEECI ] _s:‘EF[ 3| ﬂ_sof HIEAT
1 HIT

C) Maintain proper timing of fuel injection\_sﬁ‘f'Ff SOIaRM BT IFad T S/ TE&]

D) All of these\d T

Q 104) HEUI stands for- \ HEUT ¥ 3{fHUTT 3-

A) Hydrauhcally actuated electromcally controlled unit injector \ &1L QI TreTdh et chngES

B) High actuated electronically controlled unit injector \ HE] QHE‘[Q%_S' sﬁaﬁﬁﬁ ﬁAQ'_Br
C) Hydrauhcally actuated electromcally controlled unit intake \ 6I$§IIQ’10DC1I kqggcs
$Q'1CI'CII"10|’>Q'1I ODCIQ'S

D) High actuated electronically controlled unit 1nlet\_€|_$£ kd—gkds '$Q1<1CI ST OhCIQ’S

e §efe

Q 105) The part of crankshaft to which connecting rod is connected is called \he
TMUC H1 98 R R AR IIS P gl e, 38 delddig]

A) Crank web\shdh
B) Small end\¥HIcI TS
C) Crank pin\% o=

D) Big end\ {1 T

Q 106) Which of the following system shown in figure below?\FTd fau e fom ApEar
Rreen g=ifar M g7

A) PT fuel system\tﬁ_cpf U] R

B) Emission control system\%ﬁl’-‘?ﬂ Eb_,cfla Reen

C) Cooling system\?[%*m e

D) Power transmission system\q\'ﬂ? W&IQFT R

Q 107) “Scuffing” occurs when \ THIBT ad S\Idl % old [

A) Piston slides against cylinder without lubrication \ e Ricfer & fovg Wg & fomT
LS HRAT T

B) Piston clearance is excessive\[Ue faaaiy s Eﬁ?ﬁ %

C) Piston rings are worn out\[Ue1 f& forg ol %

D) Cylinder liner is worn out\Rifeier AR o Sl g

Q 108) An ohmmeter is an instrument for measuring \Th 3R
&1 {0 BT U IUBRUI 5 |

A) Current\YRT
B) Voltage\m



C) Current, voltage, and resistance\¥YIRT, el 3R UfeRIY

D) Resistance\UTaRI¢

Q 109) A voltmeter is an electrical instrument used to measure

T f9ggd Suau § forest SuanT

A) Temperature\d[UHTT

B) Voltage\aéﬁ
C) Current\YIRT

D) Resistance\HTaRI¢

Q 110) How many impellers does a multistage centrifugal pump have?\Ud> e Reo!

Y TwpTe 7u  ford griad g1 &

A) Zero\[U
B) One\Udh

C) Only two\HIA al

D) Two or more than two\a! T &l F i

.\ diceHTeR
ﬁmﬁ%%umaﬁn%

Q 111) What is the common warning signs that your engine requires a tune up?\ fAgfefaa

T T DI T 3TH AaTa-it Ybd &, fob 31U oI 1 &g 37U B ATTH T 32

A) Decreased mileage\Ucl g3l IR
B) Engine “knocking” during acceleration\URICINT o SR $OT AT

C) Overheating\

D) All of these\d T

Q 112) What is the advantage of gaseous fuel ? \Rftg _st?Ff hI T ollH % ?

A) It can mix easily with air\dg ST ¥ a1 & 1Y fia gpar %
B) It can be stored easily\gﬁ ST I ﬂ'ﬂ%ﬁ g o ghar %
C) It can displace more air from the engine\Tg §9I- ¥ 3fUH ga1 B! AT HR Tbell %

D) All of these\d T

Q 113) An electric car uses as a power source.\Udh 581@919 PR HTON H\I(‘I

Ry R BT SUTNT Bl 8

A) Petrol\aaﬁ

B) Diesel\SIoTcl

O) Battery\afﬁ

D) LPG\TaTUTSiT

ILevel 1 Answer key

Question . Question . Question . Question .
No. Option No. Option No. Option No. Option
1 C 31 B 61 C 91 D
2 A 32 C 62 C 92 A
3 C 33 B 63 B 93 A
4 A 34 A 64 B 94 C




5 35 65 95
6 36 66 96
7 37 67 97
8 38 68 98
9 39 69 99
10 40 70 100
11 41 71 101
12 42 72 102
13 43 73 103
14 44 74 104
15 45 75 105
16 46 76 106
17 47 77 107
18 48 78 108
19 49 79 109
20 50 80 110
21 51 81 111
22 52 82 112
23 53 83 113
24 54 84

25 55 85

26 56 86

27 57 87

28 58 88

29 59 89

30 60 90
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Q 1) Figure below shows different types of combustion chambers. Direct fuel injection

chamber is ..... /%WWW$W$&[WT@%|W&[§WW$&[%

A) (a) chamber / (T) P&

B) (b) chamber / (&) H&f
C) (c) Chamber / (T) H&
D) (d) chamber / (S1) H&

Q 2) The purpose of scavenging in diesel engine is to ...................... / S| SOl Gl {-ILPISr
DI ......... FaIS |

A) Increase quantity of air intake in the cylinder / Rifciex | arg & TR I AL DI deldl
g

B) Push out exhaust gases / d 19 3! 9TeR FApraar g

C) Increase pressure of air above atmospheric pressure / aTﬂTI_ETﬂ“C[ TEH W aig & T
DTSR |

D) Reduce pressure of air below atmospheric pressure / / a@q?,?ﬁu HEEEIE] dig qld Cal
YTl g |

Q 3) If the temperature of intake air in I.C. engine is lowered, then the efficiency will / afg

317E T SO H g arg BT ATUHM HH BIdT S ol STBI &l .. ...

A) Increase / S

B) Decrease / T

C) Remain the same / HHIT LGl

D) Increase upto certain limit and then decrease / P& T dh aéﬂ’r 3R Wa; diq g

Q 4) What is the system of engine lubrication shown in figure given below? / BIEAFCEID

MY T f5Y UhR BT $o Ve RIeA g 2

A) Pressure system / UeR fRen

B) Semi - pressure system / 3Y-URR Red
C) Splash system / T ey

D) Dry sump system / ‘;ﬂ%‘ I Req

Q 5) What is the type of oil filter shown in figure given below? / i fed M s o fov
TR BT 3H1ad e famr mar g2

A) Cartridge type oil filter / PRIH UHR b1 H[Td ftheer
B) Edge type oil filter / TS UHR HT 31d ftheex
C) Centrifugal type oil filter / TP UHR BT AT [heex

D) None of these / S8 ¥ P13 o1

Q 6) A hole is drilled between the crankshaft main journal and crank pin for .......... /

HHYIE AT T IR PH T H ST TH DG . ... . ... EANINCRIGE]

A) Balancing the crankshaft / SHEHRIUT B ﬂ‘gﬁﬁ IR o ferg

B) Reducing the crankshaft vibrations / W HU- Bl HH B b ﬁ‘l'q

C) Lubricating connecting rod bearings / PTG S SR B W & & ferg
D) Reducing crankshaft weight / HHIMIE YR B HH B B NIy

Q 7) The exhaust of an engine gives blue smoke. It is due to .............. / S BT Q”@E
AT A ST B | Tg FE PRI BT S |




A) Low compression pressure / BE 2N E RG]

B) Low compression temperature / 9 HRIRE aIHE
C) Poor combustion / WRId g

D) Burning of lubricating oil / WT 3G BT ST

Q 8) In diesel engine, fuel and air mix together in the .............. / SIeld SOl ﬁ, EC?FT 3R
IUH Y ........ Hed g |

A) Carburetor / PRI

B) Injector / _SZQEET

C) Combustion chamber / Gg- P&
D) Inlet port / _&"'_'la?f e

Q 9) What type of engine is shown in figure given below? / I fog T e H fg U
&1 3o [GERT T © 2

A) Horizontally opposed type / &fes ¥ U F faudia UsR &1
B) Vee type / dl UPR &1

C) Radial type / ISTA TR &I

D) In-line type / R9-¢IIgd UhIR b

Q 10) Figure below shows two systems of fuel injection. What is true statement? / RICAGLI]

T 3G Y SR & &l ReA p adiaT g | U A S suTda g 2

Fuel Ling Fual Ling
i \ | :
-~ & Fuel Injector
Electrical \':—\\ '!- Ful Injoctor =
y .
o8 -
) T
Glow Plug J‘-i‘ e, Fussl Injector e Nozzle
“H ~ hagembly
ousing -
Pre-Combustion o
", 1 "}
Heat Plug "'_-_-"‘_-- 11 Piston o _Piston

L
T

-

A) There is direct injection in both A and B /T AR & o A Ude @W Eﬁ?ﬂ % |
B) There is pre-combustion in both A and B/ T AR & o qﬁ coed Eﬁ?ﬂ % |

C) There is direct injection in A only / $Had U H Y& Sola=M gidl % |

D) There is direct injection in B only / Had ot & PR3] W Eﬁ?ﬂ % [

Q 11) What instrument is used to check the clearance as shown in figure below? / SIE]

%ﬁw%ﬁwﬂﬁﬁaﬁwﬁ%mmé@ﬁ?mwmw%



A) Dial indicator / ST 38he
B) Feeler gauge / BIeR 7151

C) Snap gauge / LERRI

D) Wire guage / dIUX US|

Q 12) Name the four types of nozzles shown below correctly from left to right. / i fewr
nﬁww%ﬁm‘r%waﬁﬁa@w |

e .

A) Pintle nozzle; Pintaux nozzle; Multiple hole; Single hole / fUed '_'h\_rlﬁ; GG :hm;
Teeiud gid; Rid gid

B) Single hole; Pintaux nozzle; Multiple hole; Pintle nozzle / U] aﬂ; el :ﬁ\_rlﬁ;
Teciud gid; fUed Aietd

C) Single hole; Pintle nozzle; Multiple hole; Pintaux nozzle / R ?ﬁﬁ; fUea :hﬁa;
Teeiud gid; fO-eTed Aieid

D) Single hole; Multiple hole; Pintle nozzle; Pintaux nozzle / ﬁm?r old; A iud 6IQ’1

fUred Ao et Aore

Q 13) In which type of fuel injection, only one high pressure pump is required for multi-
cylinder engine? / fr YR & 3¢ I9aRH | Hee! Rifciar §oiH & folt »ad Ue 3=
GE1d UU 1 S Bl § 2

A) Air /&dl

B) Mechanical / gid

C) Compression fuel / HITE 'g"d:f
D) Common rail / IR RG]

Q 14) The additive which prevents the formation of gum while petrol is in storage is / dg

groles St Ugiel & HeRUI &1 RUfA H Tig &1 FHi0r g1 AU © |

A) Oxidation inhibitors / TG HYY®H
B) Metal deactivators / YT BISREX

C) Rust resistors / ST PIGRECE
D) Ice resistors / T6 ufeRIy®



Q 15) Reciprocating pump is a / IR UE[%’

A) Negative displacement pump / fAmifea fawimg du
B) Positive displacement pump / gifvifed fowimgs du
C) Diaphragm pump / STIWHTH 44

D) Emulsion pump / SHRM UJ

Q 16) The process of filling the liquid into the suction pipe of pump casing upto the level of
delivery valve is called as ... / G0 BT o Y- Urgy H fSeiia]] dled & ddd db &
WA URBA S FEA Gl

A) Filling / HAT

B) Pumping / U4 HT
C) Priming / ]

D) Levelling / SIS

Q 17) An engine s radiator core is made of ................... /ET T D ASTRDR . ........ DI
FRIIG |

A) Brass / dida
B) Steel / R¥Id

C) Cast iron / gdl qrer
D) Plastic / WRe®

Q 18) Brake mean effective pressure in an engine depends upon its ........... / S o gyrat

W BT AT IH ST TN ITD ... ... .. R AR FRATR |

A) Speed only / &Had Tid
B) Torque only / FHad

C) Speed and torque / Uik
D) Speed and power / Tfa 3R wfda

Q 19) In a starter motor the field windings are wound around ............. | RIR AR F BIe
aEfETH ... % IRI SR AUST ST B |

A) Armature / 3R
B) Commutator / wg%a

C) Brush / SR
D) Pole shoes / UTdl RIS

Q 20) Diesel f%el, compared to petrol is .\a@ﬁ P SN T Sioa 'SE‘EFL
I

A) Easy to ignite\SIcITHT ST

B) Nonflammable\3{SaT-IRIT

C) More difficult to ignite\STCITHT SATGT Hid
D) Highly ignitable\\}ﬁqm SRENI

Q 21) In diesel engine, the compression ratio in comparison to expansion ratio

is \SoTet SO B, ToRIUR 3UTd 1 gae § Gite U &l

A) Same\gHTH
B) Less\hH



C) More\319&
D) Variable\URac-T=id

Q 22) Engine pistons are usually made of aluminium alloy because it g

fOReT SMHaR W Teiaw iy 41g @ o9 8id § Fiifeh g |

A) is lighter\GehT §
B) is heavier\HRT %
C) absorbs shocks\m I TNT HIaT %’

D) is stronger\HuIgd g
Q 23) In a variable valve timing .\éﬁqa?r qled eI | 1

A) Inlet valve - opens just before T.D.C. and closes well past B.D.C. \ gclc dled- e,
4 ST 91 Usd Gardl & AR @S S Bl §1g < el ?

B) Inlet valve - opens at B.D.C. and closes at T.D.C.\ gcle dled- 1.3LEL. W geldl % 3R
A M RI< T8

C) Exhaust valve - opens at T.D.C. and closes at B.D.C.\Q”\_rlvm qied- A ST R cldl %
IRAL A Ra<dare

D) Exhaust valve - opens at T.D.C. and also opens at B.D.C.\UWI¥C dlea- ¢l 8Ll |
goraT @ R &t A W i gear?

Q 24) A two stroke engine is usually identified by AT & %Q\IOP SO DI UgdH
THAR TR EREIEIRIE]

A) Size of flywhee \UATR @I & THR

B) Weight of engine\Sol & HR

C) Type of lubrication system\@?:f JUITcH & TR
D) Absence of valves\dled ol

Q 25) During power stroke in four-stroke cycle engine, which of the following statement is

correct?\Th R-¥ 1 TTSfohd Goi H UTAR X1 & SR, FEffad # ¥ & a1 HuF Tg!

87

A) Inlet valve opened, exhaust valve closed\i“lac dled gdl, BEAREISE EI
B) Inlet valve closed, exhaust valve opened\s"lad dled 9, T dTed gl
C) Both the valves remain closed\GHI aTed §¢ ?E?f %

D) Both the valves remain opened\a:ﬁ dled Q@[ Q_El?f %

Q 26) The output of a diesel engine can be increased without increasing the engine
revolution or size in following way-\Udh Solc] gl & 3 [3cyc ﬁ, fFafafed aie 9
S JaR g1 MHR A gl & ST T o1 Tobdl B-

A) Feeding more fuel\3{TYH ‘_Egc%IT'f O] Fh

C o
B) Increasing flywheel size\Uellg g Icl I TP R dglhr
C) Scavenging\

D) Supercharging\ﬁWTﬁrﬁT |

Q 27) Which of the following is used to reduce the concentration of CO, HC, and NOx in

the exhaust\FIBTI & CO, HC, 31R Nox &1 AT &I HH B3 & fouw Fafeaa d d
gt ST fovan ST 82

A) Muffler\HIh TR
B) Catalytic converter\dpeolledh HTdeR




C) Exhaust manifold\TINE AMHIE
D) Exhaust port\UTSI[RC are

Q 28) Petrol filter is connected with fuel pipe A e@ﬁ fiheey,
S UISY & WY JST BT ]

A) Between petrol tank and fuel pump\a—gﬁa ® 3R ‘s‘%H 4 & e

B) Between the fuel pump and the carburettor\ 's‘?H Uy 3R HTEReR & Hel
C) Between carburettor and cylinder\ﬂ'ﬂ@ﬁ?? 3R e & A

D) Between carburettor and crankcase\BTINER 3R hh by &b HH

Q 29) Which of the following is not an injector fault?\ﬁgﬁ‘ﬁ:@ﬁ 7 OI?I"I Th s\;ﬂdi Eﬁtf

TRl 82

A) Nozzle wetness\IoTcl aﬁq
B) blue nozzle body\ﬂ:ﬁw CIE]]

C) excessive leak \

D) blow holes\&T! gl

Q 30) Which one of the following is not desirable properties of a lubricant?\[HEfIREd & 9

B T WEP BT AB14 T[0T Tei 82

A) Should have low boiling point\ BYTDH HH HEIEIRY

B) Viscosity should not change with change in temperature \ dTUHTT T gftadd g waHar o
EENICEERIEICIIHY

C) Should be corrosion resistant\ &R Uﬁf@f?ﬁ a:lT Eﬂ%q

D) Should not develop foam\tl’ﬂ'q faemid q?)f Eﬁ:IT aT%'E{

Q 31) From the oil pump the oil goes directly to \3figd Uy ﬁ, GT\IJ_STT e
GEACIGIE

A) Ol filter\ 318 fheex

B) Oil gallery\3{T3d @<t
C) Main bearings\ﬁ:[ ICRIES
D) Piston\fURe

Q 32) What is the purpose of adding an anti- freeze solution to the coolant?\w o Q_Cpf-

THIS WG ! STel b1 T Ie-4 82

A) It lowers the freezing point of the water\dg U o IS Uiee &l HH Bl %

B) It prevents the coolant from freezing\dg <33(-'\1.C CARSEERS RG] %

C) It stops the formation of ice in the radiator\tl_s'm A §h 77 3 Apdl %

D) It avoids seizure the engine due to ice in the water jacket\dg dIcX e H 9% & BRI
o Bl ¥h- 4 Fadl §

Q 33) Correct mixture ratio of anti-freeze and water in cold climate is NGl
e § GEL-IhIST 3R Uit & Tat feor Srurd g gl

A) 50/50

B) 90/10

C) 40/60

D) 70/30

Q 34) Which of the following statement is correct about only mechanically driven cooling

fan\H I Hbbd [Sa7 HeHT e & IR H 9 T J DI 1 B Tgl 82



A) Fitted between the engine and the radiator. \_%;'GF'T GﬁT m & &g fibe @Tﬂ %|
B) Driven by belt and pulleys \See 3R E],T“ﬁ EINY REING Gldl %|

C) Keeps the engine cool\§51H &1 8T &I g

D) All of these\d T

Q 35) Battery Is a Source of \ ged WWW% |

A) DC Voltage \ I dlecsl
B) AC Voltage \ Tt diees
C) Sinusoidal Voltage \ Rrgsd dices

D) Square wave Voltage \ ¥&nTUR dd dieco]

Q 36) The battery is an electrochemical device, which means battery A el U

faggd e JueRv 5, o e g, 9l |

A) Uses chemical action to provide electricity\lra qqd Ual- A o o It forar &1
TR Bl §
g) Change chemical energy to mechanical energy\mm Sl ! gifAd SHoll H daadt

C) Has curved plates instead of flat plates \ Tl Wel & FolTg GehThR T Il &
D) Does not use an electrolyte \ sﬁa@w $T ITINT a1 BidlT %

Q 37) In Battery coil ignition system, the correct sequence of flow of current is- \ged
Hisd U RIeH 1, 4RT P UaTE &1 98! HH -

A) Battery Ammeter - Igmtlon coil — Distributor — Spark plug\é?f[ - QTﬁ?T - Eﬁf-ﬂ:{
Ghliiﬂ - IS%CIQLJ\C{ T W
B) Battery — Ignition coil — Ammeter — Distributor — Spark plug\aﬁ HPEE] W

- feiegex - W @
C) Battery — Ammeter — Distributor — Ignition coil — Spark plug\aﬁ - THteR - %@:W -
SR Pisd - W &
D) Battery — Distributor — Ammeter — Ignition coil — Spark plug\aﬁ - %@W - TR
- SR Bige - Wi &

Q 38) In starting of diesel engine by electrlc starting, what is used to supply power to the
starter motor? TG TICHT GRT SISId 391 B! WICT H, TR HIeR Pl UlaR Tls

B I O ReaT YT T STaT 22

A) Battery\a R
B) Dynamo\

0] Generator\ SR CX
D) Rectifier RIGCHRR

Q 39) Which of the following is not an internal combustion engine?\ﬁgﬁ*f@ﬁ AIHH A
3R 8 §9H 181 &7

A) 2-stroke petrol engine\2—€j$ a@ﬂ ESE
B) 4-stroke petrol engine\4-@?5 ﬁ@a ESE
C) Diesel engine\@ﬁ\_rl?f ESE|

D) Steam turbine\ W1 e

Q 40) The purpose of valve clearance is to-\dled FAIRY BT TS %—



A) Allow the valve to expand\dled CARCESIERCE] Hﬂﬂﬁ o

B) Allow the sliding of valve in the guide\ 1TSS H dTed & [haa- P AN T

C) Ensure that the valve closes fully\ﬁmﬁ AT fob dTed U;\ﬁ a<g A &g grar %

D) Ensure that the crankshaft is free to rotate\ﬁﬁf\ﬂﬁ BT foh S RITTe ‘cilj-l:l & fore Tada

g

Q 41) The power developed by an engine at the output shaft is called A3HI3CYC
MU R Uh Soi gRT faRid Qfdd ol CERSIGI

A) Brake power\aﬁ grar

B) Indicated power\7.=g"1>¢='>ﬁ_¢=>r PICES

C) Mean effective pressure\lﬁ'_'f _&"m QQR
D) Volumetric efﬁciency\ﬁl?{ﬁ@ G&ldT

Q 42) The device, which is used to measure the brake power of an engine is

called  \&OH DI 9 GIaR &I HIGA & fore T &=+ aral feargy
Ea) H5d Bl

A) Dynamometer\@’qﬁﬁﬂﬂa
B) Indicator\_{m

C) Torque wrench\eTdh ¥
D) Energy- meter\@ﬁﬁ- R

Q 43) Which of the following is the component of CNG conversion kit?\ fFofafead 9

Aot H-aei e BT gch S AT E?

A) Convertor\@-de
B) Mixture\fHd@R

C) Essential parts from which the petrol driven cars can be converted into CNG driven cars\

3G UTey o Ueier Iferd BRI 1 CNG Ferd BRI Sadl o ebell
D) All of these\d T+

Q 44) Fuel delivered by a pump increases with \UY gRT faafed fear oM
EISIECE] & I TG 5 |

A) Speed\’T[%f

B) Pressure\Gld

C) Temperature\dTJHTT
D) Air flow\gdl & UdTg

Q 45) Which of the following is usual type of a diesel injector?\ﬁ'{; T I S T Sord
SOFeR BT HR UHR 52

A) Single hole injector\l%l.‘ d BId golaex
B) Multi hole injector\Hex<| §lcT QuldCR
C) Long stem injector\cTT ¥CH QuideR

D) All of these\d T+

Q46)Ina type of injection pump, the fuel is distributed to each cylinder by
means of a rotor.\ Hdﬂ{%'é\ﬂd-‘&l"l Wﬁ,WWﬁW@lEQ%
eS¢ faad fear S g

A) Distributer\fe&Tegex
B) Jerk\STh



C) Distributer and Jerk both\[S¥ISER 3R S Gl
D) Neither Distributer nor Jerk\ 8 fS% 1e4ex 3R - g1 5Tdh

Q 47) LVDT is used to measure ALVDT &1 UanT A9+ & fog
fparsmarg

A) Temperature\dTUHTT

B) Crank angle\% PI0T

C) Engine speed\go CHRIG]

D) Linear displacements\w faeyo

Q 48) In electronic fuel injection, there is improvement in the efficiency
due to comparatively less resistance in the intake manifolds which will cause less pressure

losses.\SATCID SU oI H, TAeH AP | qaIHS U I &

A) Volumetric\3TId]
B) Mechanical\gifAd

C) Overal\¥QUf
D) Thermal\S®Yg

Q 49) What is the probable engine fault, If one of the cylinders does not work \gHTfad
3o S T g, Ifc; e A O BIS U BT gl HRdl 82

A) Spark plug of the cylinder is defective/RITISR BT T & W%
B) Valve is leaking\dTed o 81 gl %

C) Ring is defective\RTT EWEEUT %

D) All of these\ T T

Q 50) What is the probable engine fault, If engine does not develop full power?\ﬁ“—lﬂéﬂ

SO G 3T B, fe; oI YUt i faesfRid -Tel &var 82

A) Ignition system is defective/3 AR YU a'q'lIUf%
B) Fuel system is defectivefsE & JUTTelt amlUf %

C) Compression is low \Hdted wH %

D) All of these\ T T

Q 51) Common Rail Diesel Injection (CRDI) system is A\ BT YA Siord

SOGRME (CRDD UM Bt gl

A) Airless injection\k{qia{-l ’i;\;ld*il"l

B) Air injection\UIX ESCE]

C) Airless and air injection both\TIR T 3R TR SolaRM gl

D) Neither Airless nor air injection\- dl TRe 3R A B TR SolaRH

Q 52) The advantage of pintle nozzle is that the pintle prevents in the hole \
fifed Aot &1 a4 I8 § 3! fied, gia | ARG

A) deposit of carbon \ HIe STHT 8

B) formation of oil \ add & fmtor

C) formation of steam \ A& & g
D) formation of water \ gt & fAafor

Q 53) Catalytic converters use lambda sensors to keep \ Fefifed Hacd
2V e N AN,
TG & g ives] YR &1 SN IR 5 |




A) Exhaust temperature constant\TSIIE AT fRR

B) Exhaust pressure constant\ U GId FRR

C) Excess air ratio within a range\Udh a1 o iR sifafvad drg 3{uld
D) Flow rate of air constant\gd[ &I Udlg av, RRR

Q 54) What is the basic measurement and testing parameter of an IC engine? \ \’rﬂ_sc Kt ESE|
&1 g AT 3R Tieror Rfiex a1 82

A) Emissions\ 3o

B) Indicated power\‘i’%&’iﬁ?&»r TiaR
C) Brake power\w UiaR

D) All of these\d Ut

Q 55) In automobile servicing concept, what is meant by “Tear down”?\@ﬁaﬁw
AR Bt SR §, AR ST &1 1 HAA 57

A) Adjusting\ USSR

B) Disassembling\%ﬁx’r@w
O) Reassembling\ﬁ\’r@'aﬁfm
D) Machining\ﬂ"\’ﬁﬁ'ﬂ

Q 56) If the engine coolant leaks into the engine oil, then engine oil \afg ENE]
Fele, T Tad H i g1 oiTdl &, dl Soi 3fiad |

A) Turns black\&TelT g1 STl §
B) Turns grey in color\ &R T T god ol §
C) Appears milky\m o |_5: g

D) Turns blue in colon\=Tdl 1T H §&d STl %
Q 57) In PT fuel system What is meant by PT Ut $¢ Tureft & tict &1 31ef 82

A) Pressure Time\URR TIZH
B) Power Time\UldR CIQH

C) Pressure Test\URR X
D) Power Test\UTdX T

VNN

Q 58) Some automobile engines have glow plugs to AP S ICHIIZ T ’-:;UI'-I\I' o

& fo 7l @ e g §

A) Warn the driver about engine overheat\Sol m? @ﬁ FHIRH SIEER CAERICRIRG]
B) Preheat the air in the combustion chamber\Gg IR A 'dl &I ?ﬁﬁf B

C) Preheat the coolant\@'_cr Dl Uigic HA

D) Warm the passenger area\ TIoR Qﬁtﬂ B ITH 1T

Q 59) Which of the following is not a cause for not starting of diesel engine?\ﬁ'{; Ay M
1 ST ol & a1 Te! 8i- &1 Udh HRUT I8! 62

A) Air in the fuel system \ ‘s‘?ﬁ ol § Bdl

B) Blocked fuel filter or fuel lines\3{dv& ‘s“EH e ar _Sc‘c'F'f NI
C) Small leakage in diesel tank\SISTd ¢ H BYeT g

D) Blocked nozzle\3{do& BN

Q 60) Reciprocating pump is type of i U DI YUDR %I



A) Negative displacement pump\BUITHD fawmgg uu
B) Positive displacement pump\Y-THP fa=yo= gy
C) Diaphragm pump\STIWHTH UY

D) Rotary pump\ et 4y

Q 61) Which of the following energy generated in a turbine is used to run electric power

generator linked to the turbine shaft?\cXdlg- H I ﬁ'ﬁ T 3 foog Suil T ITINT
TRETE MU ¥ g [9ggd FHoll SFRex &I ga & foTe fasa ST g2

A) Mechanical Energy\m 3

B) Potential Energy\@m il

C) Solar Energy\?ﬁ?

D) Kinetic Energy\TIﬁlTrf Il

Q62) is the space between top of the valve stem and rocker arm. \

aTed WH & 2 SR AR 3 & S BT RIF 7|

A) Tappet cleayance\é'a? FeNRY

B) Crank pin\

C) Big end\fST1 T8

D) Piston ring\ﬁlﬁ far

ILevel 2 Answer key

1(\I)(ljl.estion Option 1(3(1)1.estion Option 1(\I)(l)l.estion Option
1 C 31 A 61 A
2 B 32 A 62 A
3 A 33 A
4 C 34 D
5 A 35 A
6 C 36 A
7 D 37 A
8 C 38 A
9 C 39 D
10 D 40 A
11 B 41 A
12 C 42 A
13 D 43 D
14 A 44 B
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4D

16 46
17 47
18 48
19 49
20 50
21 51
22 52
23 53
24 54
25 55
26 56
27 57
28 58
29 59
30 60




